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Estimate Standard t- P-Value Chi-Sqr
Error Statistic

a 0571933 0.149825 3.81735 0.0124066
0.42251318
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Estimate Standard t- P-Value Chi-Sqr
Error Statistic

a 1.20661 0.133494 9.0387 8.24343+1e-6
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b 1.06232 0.098436 10.792 1.89079+1e-6 258695
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Estimate Standard t- P-Value Chi-Sqr
Error Statistic
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Estimate Standard t- P-Value Chi-Sqr
Error Statistic
a 1.8172 0.329869 5.50886 0.000375853 0.4849270834
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Estimate Standard t-Statistic P-Value Chi-Sqr
Error
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do/dt(nb/GeV?)
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Estimate Standard t- P-Value Chi-Sqr
Error Statistic
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Estimate Standard t- P-Value Chi-Sqr Estimate Standard t- P-Value Chi-Sqr
Error Statistic Error Statistic
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GlueX new

Estimate Standard t-Statistic P-Value Chi-Sqr Estimate Standard t- P-Value Chi-Sqr B Standard t- P-Value Chi-Sqr
Error Error Statistic Error Statistic
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(W, b) This is Wgammap dependence of b from H1 (Eur. Phys. J. C 24, 345-360 (2002) )

W (b) = 2.39159+ 4%0.136198% ln(W/4) + 4%0.115 * 1ln(W/90)

Reduced Chi-Square=1.58
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do/dt text Input: b=3
Output: b=2.94
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do/dt t bin t(0.421889,4)  3Hi®b=1.079114986
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do/dt t bin £(0.161623,3) THipb=1.226611004
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The next steps

FIA5 21 BRI RCR B5g it 47 77 bin

Thanlc



